
SAP ABAP table ACCIT_GLX {FI: Interface to Accounting: Item Information}

ACCIT_GLX

FKBER [CHAR (16)]

STGRD [CHAR (2)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

CCWAE [CUKY (5)]

MERCH [CHAR (15)]

LOCID [CHAR (10)]

CCTYP [CHAR (2)]

KKBER [CHAR (4)]

BRNCH [CHAR (4)]

GRICD [CHAR (2)]

GRIRG [CHAR (3)]

GITYP [CHAR (2)]

SEGMENT [CHAR (10)]

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

 ACCIT_GLX-SEGMENT = FAGL_SEGM-SEGMENT 
0..N

0..N

J_1ADTYP

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

J_1ADTYP [CHAR (2)]

 ACCIT_GLX-GITYP = J_1ADTYP-J_1ADTYP 
0..N

0..N

J_1BBRANCH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BRANCH [CHAR (4)]

 ACCIT_GLX-BRNCH = J_1BBRANCH-BRANCH 
0..N

0..N

T014

MANDT [CLNT (3)]

KKBER [CHAR (4)]

 ACCIT_GLX-KKBER = T014-KKBER 
0..N

1

T041C

MANDT [CLNT (3)]

STGRD [CHAR (2)]
 ACCIT_GLX-STGRD = T041C-STGRD 0..N

0..N
TCCL

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 ACCIT_GLX-LOCID = TCCL-LOCID 
0..N{0,1}

TCCM

MANDT [CLNT (3)]

MERCH [CHAR (15)]

 ACCIT_GLX-MERCH = TCCM-MERCH 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 ACCIT_GLX-CCWAE = TCURC-WAERS 

0..N

0..N

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 ACCIT_GLX-FKBER = TFKB-FKBER 

0..N

0..N

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 ACCIT_GLX-CCINS = TVCIN-CCINS 

0..N

0..N

TVCTY

MANDT [CLNT (3)]

CCTYP [CHAR (2)]

 ACCIT_GLX-CCTYP = TVCTY-CCTYP 

0..N

1


